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Note :— Attempt all questions.

SECTION-A
. Attempt all parts of the following : 8x 1=8
(@) What do you mean by railway signal?
(b)  Whatdo youunderstand by grade compensation ?

(¢) Detine the term cant deficiency.

(d) Enumerate any four factors which affect the size
of an airport.

(¢) Whatare the various types of rail gauges?

(f) Define interlocking.
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(g) Explain the concept behind coning of wheels.

(h) What do you understand by track resistance and

tractive power?

SECTION-B
2. Attemptany two parts of the following:  6x2=12

(a) Draw a typical cross-section of a permanent way
(BG) on embankment to show the various

components.

(b) Define the term signal and discuss its objectives.
Discuss the various types of signals.

(c) Calculate all the elements required to set out |
in 12 turnout taking off from straight BG track

with its curve harting frame the toe of the switch
passes through TC. Give the heel divergence 11 4

CITl.

(d) What are the different types of station yards?
Explain the wor king of anyone with neat sketch.

SECTION-C

Attempt all questions. Attempt any two parts of
8x5=40

Note:-
the following.




(a)

(b)

(¢)

(a)

(b)

(¢)
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llustrate the various types of rail failure with
sketches.

What is harbour? Briefly explain the various
types of harbours.

Derive the relation of super elevation with gauge.
speed and radius of the curve.

What is semaphore signal? Discuss its working
principle with neat sketch.

What is wind rose diagram? Explain the

procedure of determining the runway
orientation.

Explain the method of interlocking.

Draw a neat sketch showing a right hand turnout
and name its component.

What are the systems for controlling the train
movement? Give the advantages of CYC system.

Calculate the super elvation and the maximum
permissible speed for a 20 BG transitioned.
curve on a high speed route with a maximum

santioned speed of 110 kmph. The speed for
calculating the equilibrium superelevation is 80
kmph and booked speed of goods train is 50
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6.

(a)

(b)

kmph.

Fnumerate the parameters which affect the
geometric design of railway track.

Define sleepers. Explain the various types of
sleepers.

What is ballast materials? Explain the

" specification ballast used on the railway track.
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